
Multiply and Divide by Powers of Ten (G)Find each product or quotient.
9,6 × 1.000 = 1,2 × 10 =
7,296 × 100 = 4,033 × 1.000 =
5,104 : 1.000 = 7,8925 × 0,01 =
4,5074 : 100 = 5,9 × 0,1 =
7,494 × 100 = 8,7 × 10 =
0,31 × 0,001 = 1,462 × 0,01 =
1,9542 : 1 = 3,53 × 0,1 =
9,92 × 10 = 5,616 : 100 =
6,3501 × 1.000 = 5,1712 × 10 =
1,5 × 0,1 = 1 × 1.000 =
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Multiply and Divide by Powers of Ten (G) AnswersFind each product or quotient.
9,6 × 1.000 = 9.600 1,2 × 10 = 12
7,296 × 100 = 729,6 4,033 × 1.000 = 4.033
5,104 : 1.000 = 0,005104 7,8925 × 0,01 = 0,078925
4,5074 : 100 = 0,045074 5,9 × 0,1 = 0,59
7,494 × 100 = 749,4 8,7 × 10 = 87
0,31 × 0,001 = 0,00031 1,462 × 0,01 = 0,01462
1,9542 : 1 = 1,9542 3,53 × 0,1 = 0,353
9,92 × 10 = 99,2 5,616 : 100 = 0,05616
6,3501 × 1.000 = 6.350,1 5,1712 × 10 = 51,712
1,5 × 0,1 = 0,15 1 × 1.000 = 1.000
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